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• Factors of 12 are 1, 2, 3, 4, 6 & 12

(12 ds xq.ku[kaM gSa& 1] 2] 3] 4] 6 vkSj 12)

• Factors of 18 are 1, 2, 3, 6, 9 & 18

(18 ds xq.ku[kaM gSa& 1, 2, 3, 6, 9 vkSj 18)

• Common Factors of 12 & 18 are 1, 2, 3, & 6

12 vkSj 18 ds mHk;fu"B xq.ku[kaM gSa 1,  2, 3 vkSj 6

• Highest common factors of 12 & 18 is 6

12 vkSj 18 dk lcls cM+k mHk;fu"B xq.ku[kaM 6 gSA

HCF of two or more than two numbers is
the greatest number that divides each of
them exactly.

(nks ;k nks ls vf/d la[;kvksa dk egÙke lekiorZd
lcls cM+h og la[;k gksrh gS tks nksuksa la[;kvksa dks
iw.kZ :i ls foHkkftr djrh gSA)

Methods to find HCF of given set of numbers

(la[;kvksa ds fn, x, lewg dk egÙke lekiorZd Kkr djus dh fof/)

I. Factorization Method (xq.ku[kaM fof/)

 Express each one of the given numbers as

the product of prime factors. The product
of least power of common prime factors

given HCF. /(nh x;h çR;sd la[;k dks vHkkT;
xq.ku•aMksa ds ifj.kke ds :i esa çLrqr djsaA mHk;fu"B
vHkkT; xq.ku•aM ds lcls NksVh ?kkr okyh ifj.kkeh
la[;k egÙke lekiorZd gksrh gSA)

Eg. Find HCF of 120 & 162

120 = 23 31 51

162 = 21 34

HCF = 21 31

       = 6
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HCF–LCM
(Theory & Exercise)

II. Division Method (Hkkx fof/)

Suppose we have to find the HCF of two given

numbers. Divide the larger number by the

smaller one, now divide the divisor by the

remainder. Repeat the process of dividing the

preceding number by the remainder till zero

is obtained as the remainder. The last divisor

is the required HCF.

(eku yhft, gesa nh x;h nks la[;kvksa dk e-l-i- Kkr
djuk gSA cM+h la[;k dks NksVh la[;k ls foHkkftr djsa]
mlds ckn 'ks"kiQy ls Hkktd dks foHkkftr djs bl
foHkktu dh çfØ;k dh iqujko`fÙk djsa vkSj bl Øe esa
'ks"kiQy }kjk vkxs dh la[;kvksa dks foHkkftr djrs jgs
tc rd fd 'ks"kiQy ds :i esa 'kwU; u çkIr gks tk;
vafre Hkktd vHkh"V egÙke lekiorZd gSA)

 Eg. Find HCF of 120 & 162

120)162(1
       120
      42)120(2 
             84
             36)42(1
                  36
                 6)36(6
                      0  

So the last divisor is 6 is the HCF.

Note :HCF of two or more than two

numbers is always less than or equal to the

lowest number

(nks ;k nks ls vf/d la[;kvksa dk e-l-i- ges'kk lcls
NksVh okyh la[;k ds cjkcj ;k mlls Hkh NksVk gksrk gSA)

Eg. Find HCF of 132 & 678 by division method

E.g. While calculating HCF of 2 numbers by

division method, we get 6, 2 and 3 as the

respective quotients and the last divisor is

5. Find the 2 numbers.
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tc nks la[;kvksa dk e&l&i Hkkx fof/ }kjk Kkr fd;k
tkrk gS rks fofHkUu pj.kksa esa 6] 2 vkSj 3 HkkxiQy
çkIr gksrk gSA ;fn vafre Hkktd 5 gS rks nksuksa la[;k,a
Kkr dhft,A

Lowest Common Multiple (LCM) (y?kqÙke lekioR;Z)

• Multiples of 12 are 12, 24, 36 , 48, 60, 72

, ....

(12 ds xq.kt gSa& 12, 24, 36 , 48, 60, 72 , ....)

• Multiples of 18 are 18, 36 , 54, 72 , 90,

....

(18 ds xq.kt gSa& 18, 36 , 54, 72 , 90, ...)

• Common Multiples of 12 & 18 are 36, 72,

108, ...

(12 vkSj 18 ds mHk;fu"B xq.kt gSa& 36, 72, 108,

........)

• Least Common Multiple of 12 & 18 is 36

(12 vkSj 18 dk lcls NksVk mHk;fu"B xq.kt 36 gSA)

• LCM of two or more than 2 numbers is the

least number which is exactly divisible by

each one of the given number is called

LCM.

(nks ;k nks ls vf/d la[;kvksa dk y?kqÙke lekioR;Z
og NksVh ls NksVh la[;k gksrh gS tks fd nh x;h la[;kvksa
esa ls çR;sd ls iw.kZ :i ls foHkkftr gks tk; mls
y?kqÙke lekioR;Z dgrs gSaA)

Methods to find LCM of given set of numbers

(nh x;h la[;kvksa ds lewg dk y?kqÙke lekioR;Z Kkr djus
dh fof/)

I. Factorization Method

(xq.ku[kaM fof/)
Resolve each one of the given numbers

into a product of prime factors. Then LCM

is the product of highest powers of all the

factors.

(nh x;h la[;k esa ls çR;sd dks vHkkT; xq.ku•aM ds
ifj.kke ds :i esa forfjr djsa] lHkh xq.ku•aMksa ds
lcls cM+h ?kkr okyk ifj.kke y?kqÙke lekioR;Z gksrk
gSA)

Eg. Find LCM of 120 & 162

120 = 23 × 31 × 51

162 = 21 × 34

LCM = 23 × 34 ×51

= 8 × 81 × 5

= 3240

II. Common Division method (mHk;fu"B Hkkx fof/)

Arrange the given numbers in a row in any

order. Divide by a number which divides

exactly at least two of the given numbers

and carry forward the numbers which are

not divisible. Repeat the above process till

no two of the numbers are divisible by the

same number except 1. The product of the

divisor & the undivided numbers is the

required LCM of the given numbers.

(nh x;h la[;kvksa dks ,d iafÙkQ esa fdlh Hkh Øe esa
O;ofLFkr djsaA ,d la[;k }kjk ftlls nh x;h la[;kvksa
esa ls de ls de nks la[;k iw.kZr;k foHkkftr gks] ls
foHkkftr djsa] tks la[;k;sa foHkkftr ugha gksrha mUgsa vkxs
ys tk;sA mi;ZqÙkQ çfØ;k dh iqujko`fÙk rc rd djsa tc
rd fd nksuksa la[;k;sa 1 ds vfrfjÙkQ mlh la[;k ls
foHkktuh; gksA Hkktd vkSj vfoHkktuh; la[;kvksa ds
xq.kuiQy dk ifj.kke nh x;h la[;kvksa dk y?kqÙke
lekiorZd gksxkA

E.g. Find LCM of 48, 50, 98, 54 and 72.

Eg. Find the LCM of 15, 24, 32 & 45

Note : LCM of two or more than two

numbers is always greater than or equal to

the greatest number.

(nks ;k nks ls vf/d la[;kvksa dk y-l-i- ges'kk lcls
cM+h okyh la[;k ds cjkcj ;k mlls Hkh cM+k gksrk
gSA)

HCF and LCM of Fractions (fHkUuksa dk e-l-i- vkSj y-l-i-)

First convert the fractions in their lowest

form (if they are not in their lowest form)

igys fHkUu dks muds ljyre :i esa cnysa (;fn os
vius ljyre :i esa ugha gSa)

Let 
a c

and
b d

 be the 2 fractions.

HCF of 
a c HCF of a &c

and =
b d LCMof b&d

LCM of 
a c LCMof a & c

and =
b d HCF of b&d

Eg. Find HCF of 
2 16 HCF of 2&16

and =
9 27 LCMof 9&27

= 
2

27

Eg. Find HCF of 
2 32

and
9 54
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Eg. Find LCM of 
18 36 45

, ,
40 27 60

For 2 numbers : HCF × LCM = N
1
 × N

2

Product of HCF and LCM of 2 numbers is

always equal to the product of the 2

numbers.

(nks la[;k ds y-l-i- vkSj e-l-i- dk xq.kuiQy mu
nks la[;kvksa ds xq.kuiQy ds cjkcj gksrk gSA)

Eg. HCF = 30    LCM = 2310   N
1
 = 210  N

2
 = ??

Eg. HCF = 14     N
1
 × N

2
 = 784   LCM = ??

Eg. N
1
 × N

2
 = 720      LCM = 120     HCF = ??

Eg. HCF = 24    N
1
 × N

2
 = 960 LCM = ??

Eg. LCM of 2 numbers is 360 and their HCF is

18. If one of the number is 72, find the

other number.

nks la[;kvksa dk y-l-i- 360 gS vkSj mudk e-l-i- 18
gSA ;fn muesa ls ,d la[;k 72 gS rks nwljh la[;k Kkr
djsaA

Eg. HCF of 2 numbers is 60 and their product

is 7200. Find their LCM

nks la[;kvksa dk e-l-i- 60 gS vkSj mudk xq.kuiQy
7200 gS mudk y-l-i- gS

Eg. HCF of 2 numbers is 12 & their product is

216. What is the LCM of 2 numbers.

nks la[;kvksa dk e-l-i- 12 gS vkSj mudk xq.kuiQy
216 gSA nksuksa la[;kvksa dk y-l-i- D;k gS\

LCM is always a multiple of HCF else data

is inconsistent.

Eg. HCF of 2 numbers is 12 and their LCM is

480. How many pair of numbers are

possible?

Eg. HCF  = 6    LCM = 180

How many pairs are possible?

Eg. If HCF of 2 numbers is 12 and their LCM

is 180. How many pairs of numbers are

there.

;fn nks la[;kvksa dk e-l-i- 12 gS vkSj mudk y-l-i-
180 gSaA ,slh la[;kvksa ds fdrus ;qXe laaHko gSa\

Eg. The sum of two numbers is 1056 and their

HCF is 66, find the number of such pair.

nks la[;kvksa dk ;ksx 1056 gS vkSj e-l-i- 66 gS ,sls
fdrus ;qXe gSaA

WORDS PROBLEM ON HCF and LCM

Eg. The traffic lights at three different road

crossings change after every 48 sec, 72 sec

and 108 sec respectively. If they all change

simultaneously at 8:20:00 hours, than at

what time will they again change

simultaneously?

fofHkUu lM+dksa ij ;krk;kr cfÙk;k¡ Øe'k% 48 lsdsUM]
72 lsdsUM vkSj 108 lsdsUM ij cnyrh gSaA ;fn os ,d
leku le; ij 8%20%00 ?kaVs ij cnyrh gSa rks fdl
le; ij os iqu% leku :i ls cnysaxhA

Eg. A, B, C start running at the same time and

at the same point in a circular stadium. A

complete a round in 252 seconds, B in 308

seconds and C in 198 seconds. After what

time will they meet again at the starting

point?

,d o`Ùkkdkj eSnku esa A, B, C leku le; ij vkSj
leku fcUnq ls nkSM+uk çkjaHk djrs gS] A ,d pDdj
252 lsds.M esa] B  308 lsds.M esa] vkSj C 198
lsds.M esa iwjk djrk gSA fdrus le; ckn os vius
çkjafHkd fcanq ij feysaxs\

Eg. A milk vendor has 21 litres of cow milk 42

litres of toned milk and 63 liters of double

toned milk. If he wants to pack them in

cans so that each can contains same

number of litres of milk and does not want

to mix any two kinds of milk in a can, then

what is the least number of cans required?

,d nw/ foØsrk ds ikl 21 yh- xk; dk nw/] 42 yh-
VksUM nw/] vkSj 63 yh- Mcy VksUM nw/ gS] ;fn og
mUgsa fMCcs esa bl çdkj ,df=kr djuk pkgrk gS fd
çR;sd fMCcs esa nw/ ds leku yh- gksa vkSj og fdUgha
nks dks vkil esa fefJr ugha djuk pkgrk] rks de ls
de fMCcksa dh la[;k Kkr dhft,A

Eg. What is the least number of square tiles

required to pave the floor of a room 42m

and 24m broad.

,d vk;rkdkj lrg dh yEckbZ 42 ehVj rFkk pkSM+kbZ
24 ehVj gSA ml ij oxkZdkj VkbYl fcNkbZ tkuh gSA
Kkr dhft, fd ,sls VkbYl dk vf/dre vkdkj
(mldh çR;sd Hkqtk) D;k gksxh rFkk laiw.kZ lrg dks
<dus ds fy, ,sls VkbYl dh U;wure la[;k D;k gksxh\
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HCF WITH REMAINDERS

Case I : When Remainders are given (tc 'ks"kiQy
fn;k x;k gks)

Eg. Find the greatest possible number with

which when we divide 37 and 58 it leaves

2 and 3 as the respective remainders

cM+h ls cM+h lEHkkfor la[;k Kkr dhft,] ftlls fd
tc ge 37 vkSj 58 dks foHkkftr djsa rks Øe'k% 2
vkSj 3 'ks"kiQy çkIr gksA

CaseII :When Remainders are same but they are

not given

(tc 'ks"kiQy leku gks ysfdu os ugha fn;s x;s gksa)
Eg. Find the largest possible number with

which when 80, 66 and 108 are divided the

remainders are same

og cM+h ls cM+h lEHkkfor la[;k Kkr dhft,] ftlls 80]
66] vkSj 108 dks foHkkftr djus ij 'ks"kiQy leku gksA

LCM WITH REMAINDERS

Case I : When Remainders are same (tc 'ks"kiQy
leku gks)

Eg. What is the least possible number which

when divided by 7 and 8 in each case, it

leaves the remainders 2?

og NksVh ls NksVh laHkkfor la[;k D;k gS] ftldks tc
7 vkSj 8 ls foHkkftr fd;k tkrk gS rks çR;sd n'kk esa
'ks"kiQy 2 vkrk gSA

Eg. Find the largest 4 digit number which on

division by 7 and 8 gives 2 as the

remainder in each case.

pkj vadks dh cM+h ls cM+h laHkkfor la[;k Kkr djsa]
ftldks fd 7 vkSj 8 ls foHkkftr djus ij çR;sd
n'kk esa 'ks"kiQy 2 vk;sA

CaseII : When the remainders are different for

different divisors but the respective

difference between the divisors and the

remainders remain constant.

(tc 'ks"kiQy] fofHkUu Hkktdksa ls fHkUu gks ysfdu Hkktdksa
vkSj 'ks"kiQyksa ds chp vUrj leku gSA)

Eg. What is the least possible number which

when divided by 7 or 8 leaves a remainder

of 3 and 4 respectively.

og lcls NksVh ls NksVh laHkkfor la[;k D;k gS] ftldks
tc 7 vkSj 8 ls foHkkftr fd;k tkrk gS rks Øe'k% 3
vkSj 4 'ks"kiQy vkrk gSA

Case III : No condition ('krZ jfgr)
Eg. What is the least possible number which

when divided by 13 leaves the remainder

3 and when it is divided by 5 leaves the

remainder 2.

og NksVh ls NksVh laHkkfor la[;k D;k gS ftldks tc
13 ls foHkkftr fd;k tkrk gS rks 'ks"kiQy 3 vkrk gS
vkSj tc bls 5 ls foHkkftr fd;k tkrk gS rks 'ks"kiQy
2 vkrk gSA]
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1. What is the Least Common Multiple of all

the even numbers between 5 and 13?

5 vkSj 13 ds chp dh lcls le la[;kvksa dk y?kqÙke
lekioR;Z D;k gksxk\

(SSC MTS 7 August 2019 Morning)

(a) 120 (b) 90

(c) 180 (d) 60

2. What is the smallest integer that is

divisible by 3,7 and 18?

7 vkSj 18 ls foHkkftr lcls NksVk iw.kkZad dkSu lk gS\
(SSC CGL 6 March 2020 Evening)

(a) 72 (b) 63

(c) 252 (d) 126

3. What is the smallest integer that is a

multiple of 5,8 and 15?

og lcls NksVk iw.kkZad dkSu lk gS tks 5] 8 rFkk 15
dk ,d xq.kt gS\

(SSC CGL 9 March 2020 Morning)

(a) 40 (b) 60

(c) 600 (d) 120

4. The least number which is exactly divisible

by 5, 6, 8, 10 and 12 is:

lcls de la[;k tks 5] 6] 8] 10 vkSj 12 ls iw.kZ
foHkkT; gS%

(SSC CPO 2019 23 -11-2020 Evening Shift)

(a) 240 (b) 180

(c) 150 (d) 120

5. What is the smallest number which when

increased by 5 is divisible by 12, 18 and

30?

og lcls NksVh la[;k dkSu lh gS ftlesa 5 dh òf¼
djus ij og 12] 18 vkSj 30 ls foHkkftr gks tkrh gS\

(SSC MTS 2 August 2019 Evening)

(a) 175 (b) 115

(c) 235 (d) 195

6. Four bells ring together at a certain time.

After this, they rang at intervals of 6, 8,

10 and 12 seconds, respectively. After how

many minutes will they be rang together

for the first time?

pkj ?kafV;k¡ ,d fuf'pr le; ij ,d lkFk ctrh gSaA
blds ckn os Øe'k% 6] 8] 10 vkSj 12 lsdaM ds
varjky ij ctrh gSaA fdrus feuVksa ds ckn os fiQj ls
igyh ckj ,d lkFk ctsxh \

(SSC CPO 15 March 2019 Evening)

(a) 1 minute (b)
1

1
2

minute

(c)
1

2
4

 minute (d) 2 minute

7. A temple has five bells which ring at

intervals of 12, 15, 16, 20 and 25 minutes

respectively. If they ring together at

midnight, then at what time next will they

ring together?

,d eafnj esa 5 ?kafV;k¡ gS tks Øe'k% 12] 15] 16] 20
vksj 25 feuV ds varjky ij ctrh gSA ;fn os vk/h
jkr esa ,d lkFk ctrh gSa] rks vxyh ckj os fdl
le; ,d lkFk ctsaxh\

(SSC MTS 16 August 2019 Morning)

(a) 8 : 00 PM (b) 7 : 00 PM

(c) 7 : 30 PM (d) 8 : 30 PM

8. The greatest number of four digits which

is exactly divisible by 24, 36 and 54 is:

pkj vadksa dh lcls cM+h la[;k tks 24] 36 rFkk 54
ls iw.kZr% foHkkftr gS

(SSC CPO 15 March 2019 Morning)

(a) 9990 (b) 9924

(c) 9936 (d) 9960

9. The product of two numbers is 6760 and

their HCF is 13. How many such pair of

numbers can be formed?

nks la[;kvksa dk xq.kuiQy 6760 gS rFkk mudk egÙke
lekiorZd 13 gSA la[;kvksa ds ,sls fdrus ;qXeksa dk
fuekZ.k fd;k tk ldrk gS\

(SSC CPO 16 March 2019 Evening)

(a) 2 (b) 3

(c) 1 (d) 4

10. The greatest number of 5 digits that is exactly

divisible by each of 8,12,15 and 20 is:

5 vadksa dh lcls cM+h la[;k dkSu lh gS tks 8 ] 12]
15 vkSj 20 esa ls izR;sd ls iw.kZr% foHkkT; gS%

(SSC CPO 15 March 2019 Evening)

(a) 99960 (b) 99940

(c) 99980 (d) 99950

11. What is the least number of four digits

which is exactly divisible by 2, 4, 6 and 8?

pkj vadksa dh og lcls NksVh la[;k dkSu lh gS tks 2]
4] 6 vkSj 8 ls iw.kZr% foHkkftr gS\

(SSC MTS 6 August 2019 Evening)

EXCERCISE
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(a) 1016 (b) 1024

(c) 1008 (d) 1006

12. An oil merchant has 3 varieties of oil of

volumes 432, 594 and 702 respectively.

The number of cans of equal size that

would be required to fill the oil separately

is:

fdlh rsy O;kikjh ds ikl rhu fdLe ds rsy dh 432]
594 ,oa 702 dh ek=kk esa gSaA rsy esa vyx&vyx Hkus
ds fy, vko';d cjkcj vkdkj ds ik=kksa dh la[;k
Kkr djsaA

(SSC CPO 16 March 2019 Afternoon)

(a) 13, 15, 17 (b) 8, 11, 13

(c) 8, 13, 15 (d) 6, 9, 11

13. The length, breadth and height of a box is

506 cm, 345 cm and 230 cm respectively,

give the length of the longest scale, so that

the three dimensions of the box can be

measured

,d fMCcs dh yEckbZ pkSM+kbZ vkSj ÅapkbZ Øe'k% 506
lseh] 345 lseh vkSj 230 lseh gSA lcls yEcs iSekus
dh yEckbZ crk;s ftlls ckWDl ds rhuksa vk;keksa dks
ekik tk ldrk gS

(SSC CPO 14 March 2019 Evening)

(a) 23 cm (b) 15 cm

(c) 30 cm (d) 46 cm

14. What is the HCF of 20, 250 and 120 ?

20] 250 rFkk 120 dk egÙke lekiorZd (HCF) fdruk
gS\

(SSC MTS 19 August 2019 Afternoon)

(a) 15 (b) 10

(c) 25 (d) 20

15. What is the greatest number which can

exactly divide 192, 1056 and 1584 ?

og lcls cM+h la[;k dkSu lh gS tks 192] 1056 rFkk
1584 dks iw.kZr% foHkkftr dj ldrh gS\

(SSC MTS 19 August 2019 Morning)

(a) 48 (b) 56

(c) 44 (d) 36

16. A, B and C are started walking from a

point, Their step measure 42 cm, 56 cm,

and 64 cm respectively. What is the

minimum distance they should walk so

that each takes exact number of steps?

A, B vkSj C ,d fcanq ls pyuk 'kq# djrs gSa mudk
dne Øe'k% 42 lseh] 56 lseh vkSj 64 lseh ds gSA
U;wure nwjh D;k gS tks mUgsa pyuk pkfg, rkfd os
izR;sd lVhd la[;k esa dne mBk,\

(SSC CPO 16 March 2019 Morning)

(a) 14.58 m (b) 15.60 m

(c) 13.44 m (d) 14.06 m

17. What is the HCF of 23 × 34 and 25 × 32 ?

23 × 34 rFkk 25 × 32  dk egÙke lekiorZd D;k gS\
(SSC MTS 2 August 2019 Morning)

(a) 25 × 33 (b) 23 × 34

(c) 23 × 32 (d) 25 × 34

18. What is the Highest Common Factor of 42,

168 and 210?

42] 168 rFkk 210 dk egÙke lekiorZd D;k gksxk\
(SSC MTS 8 August 2019 Afternoon)

(a) 14 (b) 21

(c) 42 (d) 7

19. What is the least number of square tiles

required to pave the floor of a room 15m

17 cm long and 9 m 43 cm broad?

15 ehVj 17 lseh yacs rFkk 9 ehVj 43 lseh pkSMs+
dejs dh iQ'kZ ij fcNkus ds fy, vko';d oxkZdkj
Vkbyksa dh U;wure la[;k Kkr djsaA

(SSC MTS 13 August 2019 Evening)

(a) 851 (b) 841

(c) 840 (d) 830

20.  If Least Common Multiple of 23 and 24 is

A and Highest Common Factor of 23 and

24 is B, then what is the value of A+B?

;fn 23 vkSj 24 dk y?kqÙke lekioR;Z A vkSj 23 rFkk
24 dk egÙke lekiorZd B gS] rks A + B dk eku
Kkr djsaA

(SSC MTS 7 August 2019 Evening)

(a) 451 (b) 551

(c) 553 (d) 452

21. If x × y denotes HCF of  x and y ,x @ y

denotes LCM of x and y , then find the

value of (72  × 84) @ 144 is:

;fn  x × y ,x rFkk y dk egÙke lekiorZd gS vkSj
x @ y, x  rFkk y dk y?kqÙke lekioR;Z gS] rks (72 ×

84) @ 144 dk eku gksxk%
(SSC MTS 9 August 2019 Afternoon)

(a) 144 (b) 504

(c) 210 (d) 420

22.  If A is the smallest three digit number

divisible by both 6 and 7 and B is the

largest four digit number divisible by both

6 and 7, then what is the value of B-A?

;fn A, 6 vkSj 7 nksuksa ls foHkkftr gksus okyh rhu
vadks dh lcls NksVh la[;k gS rFkk B, 6 vksj 7 nksuksa
ls foHkkftr gksus okyh pkj vadksa dh lcls cM+h la[;k
gS] rks B - A dk eku D;k gksxk\

(SSC MTS 8 August 2019 Evening)
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(a) 9912 (b) 9870

(c) 9996 (d) 9954

23. A = HCF of  3/4 and 9/16 and B = LCM of
16/5  and 4/25, then the value of A + B
will be :

A 3/4 rFkk 9/16 dk egÙke lekiorZd (HCF) gS]
B 16/5 rFkk 4/25 dk y?kqÙke lekiorZd (LCM)

gS] A + B dk eku fdruk gS\
(SSC MTS 2 August 2019 Afternoon)

(a) 250/81 (b) 70/23

(c) 271/80 (d) 260/71

24. What is the Highest Common Factor (HCF)
of 7/16, 21/32 and 49/8 ?

7/16, 21/32 rFkk 49/8 dk egÙke lekiorZd
(HCF) fdruk gS\

(SSC MTS 6 August 2019 Morning)

(a) 7/64 (b) 147/32

(c) 147/8 (d) 7/32

25. What is the LCM of the HCF of 2/3, 3/4
and LCM of 5/6, 7/8?

2@3] 3@4 ds e-l- rFkk 5@6] 7@8 ds y-l- dk y-l-
D;k gS\

(SSC MTS 20 August 2019 Evening)

(a) 1/2 (b) 35/2

(c) 1/12 (d) 35/12

26. The product of HCF and LCM of two
numbers is 3321. If one of the numbers is
369. The HCF of the number is

;fn nks la[;kvksa ds HCF vkSj LCM dk xq.kuiQy
3321 gSA ;fn buesa ls ,d la[;k 369 gSA rks HCF

Kkr dhft,\
(SSC CPO 16 March 2019 Morning)

(a) 21 (b) 9

(c) 3 (d) 27

27. The HCF and LCM of two numbers is 6 and
5040 respectively. If one of the numbers
is 210, then the other number is:

nks la[;kvksa dk egÙke lekiorZd vkSj y?kqÙke lekioR;Z
Øe'k% 6 vksj 5040 gSA ;fn buesa ls ,d la[;k 210
gS] rks nwljh la[;k Kkr djsaA

(SSC CPO 14 March 2019 Morning)

(a) 256 (b) 144

(c) 30 (d) 630

28. The LCM of two numbers is 168 and their
HCF is 12. If the difference between the
numbers is 60, what is the sum of the
numbers?

nks la[;kvksa dk y?kqÙke lekioR;Z 168 gS rFkk mudk
egÙke lekiorZd 12 gSA ;fn la[;kvksa ds chp 60
dk varj gS] rks bu la[;kvksa dk ;ksx Kkr djsaA

(SSC CPO 16 March 2019 Evening)

(a) 112 (b) 116

(c) 108 (d) 122

29. The product of two numbers is 6760 and

their HCF is 13. How many such pair of

numbers can be formed?

nks la[;kvksa dk xq.kuiQy 6760 gS rFkk mudk egÙke
lekiorZd 13 gSA la[;kvksa ds ,sls fdrus ;qXeksa dk
fuekZ.k fd;k tk ldrk gS\

(SSC CPO 16 March 2019 Evening)

(a) 2 (b) 3

(c) 1 (d) 4

30. The product of two numbers is 6845, if the

HCF of the number is 37, then the greater

number is:

nks la[;kvksa dk xq.kuiQy 6845 gSA ;fn la[;kvksa dk
HCF 37 gS] rks cM+h la[;k Kkr djsaA

(SSC MTS 9 August 2019 Morning)

(a) 111 (b) 37

(c) 148 (d) 185

31. The Highest Common Factor and Lowest

Common Multiple of two numbers p and q

are A and B respectively. IF A+B = p+q,

then the value of A3 + B3 is :

nks la[;kvksa p rFkk q dk egÙke lekiorZd (HCF)

,oa y?kqÙke lekiorZd (LCM) Øe'k%  A rFkk B gS]
;fn A+B = p + q gS] rks A3 + B3 dk eku gS%

(SSC MTS 9 August 2019 Evening)

(a) p³ (b) q³

(c) p³ + q³ (d) p³ – q³

32. The difference between the two numbers

is 15 and their HCF and LCM are 3 and 108

respectively. Find the difference between

their inverses?

nks la[;kvksa ds chp dk varj 15 gS vkSj mudk egÙke
lekiorZd (,p lh ,e) Øe'k% 3 vkSj 108 gSA muds
O;qRdeksa ds chp varj Kkr dhft,A

(SSC MTS 16 August 2019 Evening)

(a) 5/54 (b) 5/108

(c) 5/81 (d) 5/112

33. The HCF of two numbers is 21 and their

LCM is 221 times the HCF. If one of the

numbers lies between 200 and 300, then

the sum of the digits of the other number

is :

nks la[;kvksa dks  HCF 21 gS rFkk mudk LCM, HCF

ls 221 xquk gSA ;fn muesa ls ,d la[;k 200 ls 300
ds chp vkrh gS] rks nwljh la[;k D;k gS\

(SSC CGL Tier II- 13 September 2019)
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(a) 14 (b) 17

(c) 18 (d) 15

34. The LCM of two numbers x and y is 204
times their HCF. If their HCF is 12 and the
difference between the numbers is 60, then

x + y = ?

nks la[;kvksa x vkSj y dk LCM muds HCF ls 204
xquk gSA ;fn mudk HCF 12 gS rFkk la[;kvksa ds chp
dk varj 60 gS] rks x + y dk eku gS%

(SSC CGL Tier II- 12 September 2019)

(a) 660 (b) 426

(c) 852 (d) 348

35. Two numbers are in the ratio 4 : 7, If the
HCF is 26, then the sum of the numbers

will be:

nks la[;k,a 4 % 7 ds vuqikr esa gSaA ;fn mudk egÙke
lekiorZd 26 gS] rks bu la[;kvksa dk ;ksx D;k gksxk\

(SSC CPO 12 March 2019 Evening)

(a) 312 (b) 364

(c) 338 (d) 286

36. Two numbers are in ratio 6 : 11, If there

HCF is 28, then the sum of these two
numbers is:

nks la[;k,a 6 % 11 ds vuqikr esa gSaA ;fn mudk  egÙke
lekiorZd 28 gS] rks bu nks la[;kvksa dk ;ksx D;k gS\

(SSC CPO 13 March 2019 Evening)

(a) 476 (b) 448

(c) 392 (d) 420

37. What is the sum of the digits of the least
number, which when divided by 12, 16 and

54, leaves the same remainder 7 in each
case and is also completely divisible by 13?

ml lcls NksVh la[;k ds vadksa dk ;ksx Kkr djsa ftls
12] 16 vkSj 24 ls Hkkx nsus ij gj ckj 7 'ks"kiQy
vkrk gS vkSj ;g 13 ls Hkh iw.kZr% foHkkftr gSA

(SSC CPO 13 March 2019 Evening)

(a) 36 (b) 16

(c) 9 (d) 27

38. What is the sum of digits of the least

number, which when divided by 15, 18 and
42 leaves the same remainder 8 in each
case and is also divisible by 13?

ml U;wure la[;k; ds vadksa dk ;ksx D;k gksxk] tks
15] 18 vkSj 42 ls foHkkftr gksus ij izR;sd fLFkfr esa
,d gh 'ks"k 8 jgrk gS vkSj 13 ls foHkkT; Hkh gS\

(SSC CPO 13 March 2019 Evening)

(a) 25 (b) 24

(c) 22 (d) 26

39. What is the sum of the digits of the least
number, which when divided by 15, 18 and
27 leaves the same remainder 9 in each
case and is also completely divisible by 11?

ml lcls NksVh la[;k ds vadksa dk ;ksx Kkr djsa ftls
15] 18 vkSj 27 ls Hkkx nsus ij gj ckj 'ks"kiQy 9
vkrk gS rFkk ;g 11 ls Hkh iw.kZr;k foHkkftr gSA

(SSC CPO 13 March 2019 Morning)

(a) 20 (b) 17

(c) 18 (d) 19

40. What is the largest two digit number which
when divided by 6 and 5 leaves remainder
1 in each case?

nks vadksa dh lcls cM+h la[;k Kkr djsa ftls 6 vkSj 5
ls foHkkftr djus ij gj fLFkfr esa 'ks"k iQy 1 vkrk gSA

(SSC MTS 5 August 2019 Morning)

(a) 61 (b) 93

(c) 91 (d) 97

41. What is the largest two digit number which
when divided by 6 and 7 gives remainder
3 and 4 respectively?

nks vadksa dh og lcls cM+h la[;k dkSu lh gS ftls 6
vkSj 7 ls foHkkftr djus ij 'ks"k&iQy Øe'k% 3 vkSj
4 vkrk gSA

(SSC MTS 8 August 2019 Morning)

(a) 81 (b) 94

(c) 83 (d) 84

42. Find the sum of digits of the largest 6-digit
number that is divisible by 3, 4, 5 and 6

3] 4] 5 vkSj 6 }kjk foHkkftr gksus okyh lcls cM+h
6&vadh; la[;k ds vadksa dk ;ksx fdruk gS\

(SSC MTS 16 August 2019 Afternoon)

(a) 45 (b) 39

(c) 48 (d) 42

43. Let x be the smallest number greater than
600 which gives the remainders 2, 3 and
4, when divided by 5, 6 and 7 respectively.
The sum of digits of x is:

eku yhft;s fd x, 600 ls cM+h lcls NksVh la[;k gS
tks 5] 6 vkSj 7 ls foHkkftr gksus ij 'ks"kiQy Øe'k%
2] 3 vkSj 4 NksM+rh gSA x ds vadksa dk tksM+ gS&

(SSC MTS 16 August 2019 Evening)

(a) 14 (b) 15

(c) 13 (d) 16

44. When the smallest number x is divided by
5,6,8,9 and 12, it gives remainder 1 in
each case. But x is divisible by 13. What
will be the remainder when x will be
divided by 31 ?
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tc 5] 6] 8] 9 vkSj 12 ls lcls NksVh la[;k x dks
foHkkftr fd;k tkrk gS] rks izR;sd ekeys esa 1 'ks"k
izkIr gksrk gS] fdUrq x, 13 ls foHkkT; gSA tc x dks
31 ls foHkkftr fd;k tk,xk rks izkIr 'ks"k fdruk gksxk\

(SSC MTS 20 August 2019 Afternoon)

(a) 1 (b) 5

(c) 3 (d) 0

45. Let x be the largest 4-digit number which

when divided by 7, 8 and 11 leaves

remainders 4, 5 and 8 respectively. When

x is divided by (7+8+11), then the

remainder will be :

eku yhft, dh x, 4 vadksa dh lcls cM+h la[;k gS]
ftls 7] 8 vkSj 11 ls foHkkftr djus ij Øe'k% 4] 5
vksj 8 'ks"k cprk gSA tc x dks (7 + 8 + 11) ls
foHkkftr fd;k tkrk gS] rc 'ks"k gksxk%

(SSC MTS 21 August 2019 Evening)

(a) 23 (b) 25

(c) 21 (d) 19

46. A is the smallest three-digit number which

when divided by 3,4 and 5 gives remainder

1,2 and 3 respectively. What is the sum of

the digits of A ?

A og rhu vadks dh lcls NksVh la[;k gS] tks 3] 4
vkSj 5 ls foHkkftr djus ij Øe'k% 1] 2 rFkk 3j
'ks"kiQy nsrh gSA A ds vadks dk ;ksx fdruk gS\

(SSC MTS 21 August 2019 Evening)

(a) 11 (b) 10

(c) 6 (d) 8

47. Find the least number which when divided

by 12,18,24and 30 leaves 4 as remainder

in each case, but when divided by 7 leaves

no remainder.

og lcls de la[;k Kkr djsa ftls 12] 18] 24 vkSj
30 ls foHkkftr djus ij 'ks"k 4 vkrk gS] ysfdu 7 ls
foHkkftr djus ij dksbZ 'ks"k ugha cprk gSA

(CGL 2019 Tier-II 18 November 2020)

(a) 634 (b) 366

(c) 364 (d) 384

48. What is the largest number that divides

460, 491 and 553 and leaves remainder 26

in each case?

og lcls cM+h la[;k dkSu lh gS tks 460] 491 rFkk
553 dks foHkkftr djrh gS rks izR;sd ekeys esa 26 'ks"k
jgrk gS\

(SSC MTS 6 August 2019 Afternoon)

(a) 27 (b) 35

(c) 33 (d) 31

49. What is the highest number which when

divides the numbers 1026, 2052 and 4102,

leaves remainders 2, 4 and 6 respectively.

og lcls cM+h la[;k dkSu lh gS tks la[;kvksa 1026]
2052 vkSj 4102 dks foHkkftr djus ij 'ks"kiQy Øe'k%
2] 4 vkSj 6 NksM+rh gS\

(SSC MTS 14 August 2019 Afternoon)

(a) 512 (b) 1024

(c) 128 (d) 256

50. When 1062, 1134 and 1182 are divided by

the greatest number x, the reminder in

case is y. What is the value of (x-y)?

tc 1062] 1134 vkSj 1182 dks lcls cM+h la[;k x

ls foHkkftr fd;k tkrk gS] rks ckj 'ks"kiQy y gksrk gSA
(x – y) dk eku D;k Kkr dhft,\

(CGL 2019 Tier - II 15-11-2020)

(a) 19 (b) 17

(c) 16 (d) 18

51.  Let x be the greatest number which when

divides 955, 1027, 1075, the remainder in

each case is the same. Which of the

following is NOT a factor of x?

eku ys fd x lcls cM+h la[;k gS tks 955] 1027] 1075
dks foHkkftr djrh gS] rks izR;sd ekeys esa 'ks"k leku gSA
fuEufyf[kr essa ls dkSu x dk xq.ku[kaM ugha gS\

(CGL 2019 Tier - II 16-11-2020)

(a) 6 (b) 16

(c) 4 (d) 8

52. In a fire range, 4 shooters are firing at their

respective targets. The first, the second,

the third and the fourth shooter hit the

target once every 5 s, 6s, 7 s and 8 s

respectively. If all of them hit their target

at 9 : 00 am, when will they hit their target

together again?

iQk;j jsat esa 4 fu'kkusckt vius&vius y{;ksa ij xksyh
nkx jgs gSa | çFke] fnfr;] r̀rh; vkSj prqFkZ fu'kkusckt
Øe'k% çR;sd 5s] 6s] 7s vkSj 8s  esa ,d ckj y{;
nkxrk gS | ;fn os lHkh vius&vius y{; dks iwokZg
9 % 00 cts nkxrs gSa] rks os lHkh ,d lkFk fiQj fdrus
cts vius y{; dks Mkxsaxs\

(a) 9 : 04 am

(b) 9 : 08 am

(c) 9 : 14 am

(d) None of the above
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53. What is the sum of digits of the least

multiple of 13, which when divided by 6,

8 and 12 leaves 5, 7 and 11 respectively

as the remainders?

13 ds ml y?kqre xq.kt ds] ftls ;fn 6] 8 vkSj 12
ls foHkkftr fd;k tk, rks Øe'k% 5] 7 vkSj 11 'ks"kiQy
cprs gSa] vadksa dk ;ksxiQy D;k gS\

(a) 5 (b) 6

(c) 7 (d) 8

54. How many numbers from 1 to 1000 are

divisible by 2, 3, 4 and 5?

1 ls 1000 rd fdruh la[;k,¡ 2] 3] 4 vkSj 5 ls
foHkkT; gSa\

(a) 16 (b) 17

(c)  32

(d)  None of the above

55. There are two numbers which are greater

than 21 and their LCM and HCF are 3003

and 21 respectively. What is the sum of

these numbers?

,slh nks la[;k,¡ gSa tks 21 ls cM+h gSa vkSj muds LCM

vkSj HCF Øe'k% 3003 vkSj 21 gSaA bu la[;kvksa dk
;ksxiQy D;k gS\

(a) 504 (b) 508

(c) 514 (d) 528

56. Six bells commence tolling together and

toll at intervals of 2, 4, 6, 8, 10 and 12

seconds respectively. In 30 minutes, How

many times do they toll together?

N% ?kf.V;k¡ ,d lkFk ctuh vkjaHk djrh gSa] ;fn ;s
?kf.V;k¡ Øe'k% 2] 4] 6] 8] 10] 12 lsd.M ds varjky
ls cts rks 30 feuV esa ;s fdruh ckj bdêòh ctsaxh\

(a) 4 (b) 10

(c) 15 (d) 16

57. Let the least number of six digits which

when divided by 4, 6, 10, 15 leaves in each

case same remainder 2 be N. the sum of

digits in N is.

eku fy;k tk, fd 6 vadksa dh og U;wure la[;k N

gS] ftlesa 4] 6] 10 rFkk 15 ls Hkkx nsus ij çR;sd
fLFkfr esa 2 'ks"k cprk gS rks N la[;k ds vadksa dk
;ksx Kkr dhft,A

(a) 3 (b) 5

(c) 4 (d) 6

58. Let N be the greatest number that will

divide 1305, 4665 and 6905 leaving the

same remainder in each case. Then, sum

of the digits in N is.

eku fy;k tk, fd N og vf/dre la[;k gS ftlls
1305] 4665 vkSj 6905 dks Hkkx nsus ij çR;sd fLFkfr
esa cjkcj 'ks"k cprk gS] rks N la[;k ds vadksa dk ;ksx
Kkr djsaA

(a) 4 (b) 5

(c) 6 (d) 8

59. The H.C.F of 3240, 3600 and a third

number is 36 and their LCM is 24× 35 × 52

×72.  Find the third number?

3240] 3600 vkSj ,d rhljh la[;k dk egÙke
lekiorZd 36 vkSj mudk y?kqÙke 24× 35 × 52 ×72

gSA rhljh la[;k Kkr dhft,A

(a) 22 × 35 × 72 (b) 22 × 53 × 72

(c) 25 × 52 × 72 (d) 23 × 35 × 72

60. The ratio of three number is 3:4:5 and

their LCM is 2400, their HCF is:

rhu la[;k,a 3%4%5 ds vuqikr esa gS vkSj mudk y?kqÙke
lekiorZd 2400 gS] mudk egÙke lekiorZd gS&

(a) 40 (b) 80

(c) 120 (d) 200

61. Two number which is greater than 29 and

their HCF is 29 and LCM is 4147 sum of

these number.

nks la[;kvksa tks 29 ls cM+h gS] ftudk e- l- 29 rFkk
y-l- 4147 gS] budk la[;kvksa dks tksM+ gS&

(a) 666 (b) 669

(c) 696 (d) 966

62. The least multiple of 13, when divided by

4, 5, 6, 7 and 8 leaves remainder 2 in each

case?

13 dk og lcls NksVk xq.kt ftls 4] 5] 6] 7 vkSj 8
ls Hkkx nsus ij çR;sd n'kk esa 2 'ks"k cprk gSA fuEu
gS&

(a) 2520 (b) 842

(c) 2522 (d) 840

63. The H.C.F and L.C.M of two numbers are

7 and 140 respectively. If these numbers

are between 20 and 45 then sum of these

number is ?

nks la[;kvksa ds e-l- rFkk y-l- Øe'k% 7 vkSj 140 gS
;fn la[;k,a 20 vkSj 45 ds chp dh gksa] rks mu la[;kvksa
dk ;ksx gS&
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(a) 70 (b) 77

(c) 63 (d) 56

64. Which of the following statements is true ?

fuEufyf[kr esa ls dkSu lk dFku lR; gS\
(SSC CPO 14 March 2019 Morning)

(a) LCM of two natural numbers is divisible

by their HCF./nks izkÑfrd la[;kvksa dk LCM

muds HCF }kjk foHkkT; gSA
(b) HCF + LCM of two numbers = Product

of the two numbers./nks la[;kvksa dk HC +

LCM = nks la[;kvksa dk xq.kuiQyA
(c) Two prime numbers are co-prime num-

bers if their LCM is 1/;fn nks vHkkT; la[;k,a
lg vHkkT; gSa rks muds LCM 1 gSaA

(d) HCF of two numbers is the smallest

common divisor of both numbers./nks
la[;kvksa dk HCF nksuksa la[;kvksa dk lcls NksVk
Hkktd gSA

65. If the Least Common Multiple of 56, 57

and 58 is K, then what will be the Least

Common Multiple of 56, 57, 58 and 59?

;fn 56] 57 vkSj 58 dk y?kqÙke lekioR;Z K gS] rks
56] 57] 58 vkSj vksj 59 dk y?kqÙke lekioR;Z D;k
gksxk\

(SSC MTS 7 August 2019 Afternoon)

(a) 177 K (b) 59 K

(c) 56 K (d) 57 K

66. Let x and y be the 3-digit numbers such

that their difference is 729 and HCF is 81.

Find the value of (x+y) ?

eku yhft, ,d x vkSj y, 3– vadksa dh ,slh la[;k,a
gS fd mudk varj 729 vkSj egÙke lekiorZd 81 gSA
(x + y) dk eku Kkr dhft,\

(SSC MTS 20 August 2019 Morning)

(a) 1053 (b) 891

(c) 1539 (d) 1377

67. The HCF of two numbers is 29, and the

other two factors of their LCM are 15 and

13. The larger of two number is :

nks la[;kvksa dk HCF 29 gS] vkSj muds LCM ds
vU; nks xq.ku[kaM 15 vkSj 13 gSA nks la[;kvksa esa ls
cM+h la[;k Kkr djsaA

(SSC CPO 2019  24-11-2020 Evening shift)

(a) 406 (b) 435

(c) 377 (d) 464

68. The HCF of two numbers is 29, and the

other two factors of their LCM are 15 and

13. The smaller of the two number is :

nks la[;vksa dks HCF 29 gS] vkSj muds LCM ds vU;
nks xq.ku[kaM 15 vksj 13 nks la[;kvksa esa ls NksVh la[;k
Kkr djsaA

(SSC CPO 2019  25-11-2020 Evening shift)

(a) 406 (b) 377

(c) 435 (d) 464

1.(a) 2.(d) 3.(d) 4.(d) 5.(a) 6.(d) 7.(a) 8.(c) 9.(a) 10.(a)

11.(c) 12.(b) 13.(a) 14.(b) 15.(a) 16.(c) 17.(d) 18.(c) 19.(a) 20.(c)

21.(a) 22.(b) 23.(c) 24.(d) 25.(b) 26.(b) 27.(b) 28.(c) 29.(a) 30.(d)

31.(c) 32.(b) 33.(d) 34.(d) 35.(d) 36.(a) 37.(b) 38.(d) 39.(c) 40.(c)

41.(a) 42.(d) 43. (b) 44. (b) 45.(b) 46.(b) 47.(c) 48.(d) 49.(b) 50.(d)

51.(b) 52.(c) 53.(d) 54.(a) 55.(a) 56.(d) 57.(b) 58.(a) 59.(a) 60.(a)

61.(c) 62.(d) 63.(c) 64.(a) 65.(b) 66.(a) 67.(b) 68.(b)

Answer Key
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